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1. Arod of length (L) of 3.8m and cross-section of 150mm x 150mm is shown in the figure
weighs 680 N. (1) Determine the length immerged in the water (7%), and (2) the angle of
inclination when the water surface is 2.2 m (k) above the pivot. (8%) The density of water
is 1000kg/m?>.
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6. A 3 5 m long plate is towed through water. Determine the speed at which about 90 percent
of the boundary layer is turbulent. The water’s v = 1.01x10"° N-s/m2. The standard value of
Reynolds number for transition from a laminar to a turbulent boundary layer is 5x10°. (20%)




